& A0] A4 F vk B 2L

D V52 x (—2)2:3 @M+ V10000 = 200
® -V + (Vi3) =6 @ VI - /(97 =1

® /(-20)2 - V400 = 0

@ +0.04 + V10000 = 0.002




2. VIO-x7H7bY 2 AQG HES s A x

@1 @ 2

@ 3 @ 4 ® 5

x=19 1 VI0o—x= VI0-1= V9 =3 o] E| 22 A3t}
S ow= 1




= 3a W), AA% a 9] e Fofole,

=
Sl

i

. V4 V3
@TTE_ ‘/@X \/Z
=45
=35




filo
)
i
ol

Vi=x, Vio=y 2t & o}, 5v5+3vV10-10V5+ 14 V10
SHA ax + by 2 LR 5= Qleh o] W, 2a - b 9] e

@-2 o5 @3 @ 5 ® 27

5v5+3v10-10V5 + 14V10
= (5-10) V5 + (3+ 14) V10
=-5V5+ 1710

= -bx+ 17y
“2a-b=2x(=5)-17=-27




(x+a)(x=5)=x+bx+15 4 1, a, b & Ft27

®a=-8, b=-8 @ a=-8, b=-5
@a=-3.b=-8 ®a=3b=5
®a=3b=-5

(x+a)(x=5)=x2+ (a-5)x—ba= x>+ bx+ 15
Wb a-5=b, —5a=15°B=2 qg=-3, b=-8 o[t}




CFS- BA B4 (a+b)” = a + 2ab+ B& 0185V (2x+ y - 3)?
2 A7 Aolet. () e LA AL 22

2x+y=A% FOoH, Fo] A2
2x+y-3)?2=(A-3)2=(Q) -
oA A thAlell 2x + yE tHYdsHA
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